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Entrance Test Question Paper
B.A. Honours (Humanities & Social Sciences)
Cluster Innovation Centre, University of Delhi

1. Pick the correct match.

TET A T,
1. Khushwant Singh  i. Urdu
2. Manto ii. Hindi
3. Uday Prakash iii. English
4. Amruta Pritam iv. Punjabi
1. geeq - 0.3
2. HaT- i, B
3. ITT THFIA- i, SSH
4. Fgarfiaw- v, gSTEr
12 3 4

a. iv i i i

b. i i iii iv

c. i i ii iv

d. i i i iv

2. Goti pua is the Dance form of which of the following state?

TS T8 & T T Y o7 At 872
a. Kerala
FTA
b. Karnataka
Tl

¢. Tamilnadu

TS

D

d. Odisha



3. Which of the following is not a temple architectural style?
TAH F I AT woTOer deft TE 272

a. Nagara Style
GINERIE]

b. Dravida Style
HEERIE

c. Besara Style
FETT QAT

d. Ahara Style

e A=y

4. Chand Minar Located within which of the following forts?
=T W T o P e ¥ ofiee 27
a. Junagarh fort
SATTE et
b. Daulatabad Fort
Jrerarara e
c. Golkunda Fort
et e
d. Aamer Fort
AT foeT
5. Which of the following is not correctly matched?
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et & & #1998t 79 T8 272
a. Yakshgana- Tamilnadu
JemT- TR
b. Naach- Bihar
r=- faer
c. Nautanki- Uttar Pradesh
FTeeh!- ITL T
d. Tamasha- Maharashtra
THTIT- HETY
6. Amruta shergil is famous for____.
e drefirer e fory witrg 22
a. Dance
I
b. Music
Tfta
c. Painting
IKECXI
d. Film
fohemr
7. Who among the following is not a tennis player?
TAH F FI9 o°F [aerET 751 87
a. Ivan lendl
A S

b. John McEnroe



SICR-CE
c. Michael Jordan
ATEHSA SIS
d. Pete Sampras
e T
8. Which of the following is correctly matched?
forererfee & & w8 fer e AT 22
a. Amzad Ali Khan- Tabla
HHATS AT G- TTAT
b. Debu Chaudhary- Sarod
3 et 7
c. Pandit- Ravishankar- Santoor
9. T Hq7
d. Pandit Vishwamohan Bhatt- Mohan veena
. faraie Wg- Hig A
9. Which of the following city is also called as the ‘City of lakes’?
TH F 3 ot & =it & g off Fer St 272
a. Jaipur
SR
b. Udaipur
LR
c. Amritsar
AT

C

d. Raipur



10. Under which of the following ministry does the Central Police System of our Country
operate?

THTL 39T AT T T AT 370 & g HATAT & q2d H1d HLdl 872
a. Ministry of Defence
TET AT
b. Ministry of Home affairs
UEREISC
¢. Ministry of Personnel
S GATAT
d. Ministry of Law
[EIEEEIED]

11. Which of the following is not an Indian Tribe?

TAH A AT SIS A2l 22
a. Jarwa
STt
b. Munda
T
c. Masai
HETS
d. Bhil
G

12. Effect of light on photocells produces



FISHEH T2 THILT o TATS & FIT 3T gIaT 87

a. Pressure
ECIES
b. Current

g

c. Photosynthesis

TERTET T[T
d. none of these
EREEEIEE
13. Conversion of a substance directly from solid to vapour state is known as
T TGT & 316 F 16T STaeT § Hiel THad sl ToraT &l F47 Fgd 87
a. Vaporization
TSRO
b. Sublimation
SEAqTAT
c. Decomposition
farere
d. ionization
AT

14. The Centigrade and Fahrenheit are two scales to measure temperature. At which temperature
do these two scales give the same reading?

HEWE oY wAgee ATTHTT A9 & &1 97T . Fhe I 9% 1 AT 7 957 U giaT g2

a. -40°
b. -32°
c. -273°



d. 100°

15. Meteorology is the science of

Tt e foam 82
a. Metals
earg T
b. Weather
HHEwH HT
c. Meteors
Il T
d. Microbes
TIRTTOLEAT &7

16. Which of the following chemicals is used in indelible ink (Election ink)?
Referfed § & e T/ F7 TR AfHe =1e! (FA19 S1at) § =67 Srar 872
a. Sodium Nitrate
qifeaw A3
b. Potassium Nitrate
Frforry Aree
c. Silver Nitrate
foeaz ATRge

d. Silver lodide

o
ISECASSIRISIES

17. Which of the following cell organelles are known as ‘suicide bags’?

TH T o FITART STaTa T AT AT il Il o 917 F A &

a. Lysosomes



AT
b. Mitochondria
BIECIEAICDI]
c. Ribosomes

ECIGIE

d. RNA

18. Animals that chew the cud are called .
SITEAT T ATl STl 1 F4T Fgd 272

a. Ruminants

THIT

b. Rodents

g

c. Scavengers
AT 2 AT
d. Reptiles

aagT

19. Which of the following is not present in animal cells ?
TAH T FAT ST FITARTA § Tl qTAT AT 52

a. Mitochondria

ATZEHISAT

b. Chloroplast

FATATEE

c. Golgi Body



LIESIEIRS

d. Nucleus
Eg-ca
20. Which disease is not caused by bacteria?
FI AT T STV 3 F10T A FAT 32
a. Tuberculosis
& T

b. HIV

THAEET

c. Leprosy
FY AT
d. Typhoid

BREIRS

21. The synthesis of which of the following vitamins results due to sun exposure?

=3 3 Py Frerfire 7 S8 o srTer ¥ gy e 32

a. Vitamin A
[ECIEERY

b. Vitamin B
[EEUGEE]

c. Vitamin C
[EEutEkl

d. Vitamin D
[EEUEEEE
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22. ESR in medical science refers to -------------
FrfereaT fasme & £ ue.sme. &1 7 A g2

a. Erythrocytes Sedimentation Rate
TRATHTEEH STqETET T
b. Environmental Sustainability Rate
ERIERC IR I RE 1 HcEy
c. Enzymes Secretion Rate
EEIEUICIC IS
d. Element Sublimation Rate
T ILATTAT aT

23. Which of the following is a plant hormone?

TAH F AT 9T qTaT g 872
a. Estrogen
TR
b. Testosterone
TETEAT
c. Cortisol
FIIEHTA
d. Ethylene
wffRm
24. How many states in India have coastal areas?
R & fhae =1 § a9 ac &7
a. 8
b. 9

11



25. India shares its largest international land boundary with which of the following countries?
AT AT HaH AT SIAT FALTST AT 7 & T 297 % A1 ATAT F2aT 872
a. China
=
b. Bangladesh
TRATSLT
c. Pakistan
ElEaIE]
d. Nepal
LRIE]
26. Which of the following is the largest island in the world?
Feferfeaa & & 17 fora 1 qa8 a1 37 872
a. Australia

areeferaT

b. Greenland
c. Hawai

7S

d. Borneo

ELERI

27. Day and night on earth are the result of which of the following action?

gt % 0q i fae Meferfaa & fora e &1 afome g2

12



a. Earth’s revolution around the sun
ot 36 T ¥ ST A A A

b. Earth’s rotation around its axis
el F ST & I LA T

c. Rotation of the moon around earth
ot 3 =TT Sie sgar iy afmr

d. Venus being closest to earth

[ TZ T AT & [Hhed® gHT

28. In the year 2015, the monsoon was predicted to be lower than normal due to which of the
following phenomenon?

fRrerforfea ® & fe o & a1 2015 § ATAEA % ATHT & FH7 Tga 6 Aiesqaroft it 15 272
a. ElI-Nino
Ta-faar
b. La-Nina
EISEE
c. Western Disturbances
aferHt =ragT
d. Global Warming

CIEER IR

29. Who was the Mughal Emperor at the time of 1857 revolt against British?

f5e & fa=g 1857 & fA%lg & 90T {I HHTE Hid IT?
a. Akbar
hd T

b. Aurangzeb

EIRCECH
13



c. Bahadur Shah Zafar

TRIX ATE AR

d. Babur

EICES
30. Who from the following never became the president of the Indian National Congress?
T T AT AT TET FF F 27 F7 TS 92

a. Mahatama Gandhi

HETCHT et

b. Jawaharlal Nehru

SATETAT qg&

c. Motilal Nehru

AT A%

d. Annie Beasant

THT A¥e

31. Who among the following is the author of the book Si-yu-ki?
[e-7-#1 & T @ 3AH § I 82

a. Fa-hien
W

b. Hiuen-tsang
FEIRGIL

c. Tao-an
GIE

d. It-sing
FR:L

32. The third Battle of Panipat was fought between the Marathas and -----------

14



TR ST T g WRTST o % &= o ST AT o

a.

Akbar

S EEES

Ahmed Shah Abdali

HZHS AT TN
Bahadur Shah
RS
Aurangzeb

EIEE]

33. Which one of the following crops was introduced by the British in India?

TH & I Y FEHA AT F SIS g AT TE 22

a.

b.

C.

d.

Coffee
W
Chilli
=
Tobacco
GEIED
Tea

q

34. Sir Charles Wood’s Despatch of 1854 is associated with .
1854 T TR Al g3 foela @afa & .

a.

Agriculture

FOH
Armed forces

T TT I

15



c. Education
e

d. Finance
[ERK]

35. Which among the following was the first European nation to bring a printing press to India?

TAH | A A7 IgAT ZATOT 397 g ST 9 | T s & %7 e
a. The Dutch
Skl
b. The Portuguese
KRS
c. The British
forfear
d. The French
EARIE)
36. Which session of Indian National Congress was marked by the demand for Purna Swaraj

(complete self-rule)?

AT TSI FHRH F o6 AT T qOT TS %0l AT & (o0 ST S[1ar 82

a. Lahore
AR

b. Surat
LT

c. Lucknow
AGaS

d. Rawalpindi
REEIEE]]

37. Who wrote the book ‘Poverty and Un-British Rule in India?
16



‘Tt U5 J-1a12er & g7 Zfear thara e fordt 872
a. Bal Gangadhar Tilak
ElERIIEECEED
b. Aurobindo Ghosh
ERECACIL]
c. Dada Bhai Naoroji
IMET AT AT
d. Gopal Krishna Gokhale

AT O TrEe

38. Who for the first time addressed Gandhiji as the ‘Father of the Nation’?

T ST 3T Teelt A gfaar | fE garfed fFr?
a. Rabindranath Tagore
TfegATY MY
b. Jawaharlal Nehru
SATETATT TEs
c. Subhash Chandra Bose
AT S 19
d. Rajendra Prasad
EC-A I

39. Who founded the Ramkrishna Mission?
TTHFO e T T e 2

a. Lala Hansraj
ATAT ZHITST

b. Ramkrishna Paramhansa
TTHEHST GTTHEH

17



c. Swami Vivekananda
I IGIREEE AT

d. Swami Shraddhanand Saraswati
1 g qTEdr

40. Who was the founder of the Indian National Congress?

AT T FRH hl TTOAT e 7 = ?
a. W.C. Banerji
o " A
b. A.O.Hume
el
c. S.N. Banerji
T, U, T99(1
d. B.G.Tilak
ft. St faer

41. Hippalus is associated with

feoaTere forerer "efard g2

a. The discovery of Silk Route
TOTH /T 61 @ISt

b. The invention of Compass
ERIEIRCIE K]

c. The discovery of Eclipses
PR EARCIE K]

d. The discovery of Monsoon
HATAYA &l @i &

42. Which day was decided by the UN to be celebrated as the International Yoga Day ?
18



T TP o g7 (6 e 1 staeargia AT faae & =9 § 9913 S & ford et B
27
a. 21* June
215
b. 21 May
219%
c. 21% April
2138w
d. 21* February
21 %t
43. Which Indian monument complex was recently provided with WiFi hotspot facility?
e T ST TE %1 21 & | a7 WIS gIeedTe a=maT AT 872
a. Fatehpur Sikri
Haeq?
b. AgraFort
SN T fohedT
c. Taj Mahal
qrSTHE
d. Qutub Minar
T HATT

44. Which mobile application of Delhi Police allows a woman to send a distress call to Police
Control Room (PCR) and their relatives in case of any emergency?

o=t T T i |7 HiaTed Uieasherd Rl Aigdr &0 st fata § e e wef siT
gt #r faafr-Fie w5 #it saqata a1 82

a. Samarth
19



LR

b. Himmat
fewma

c. Sahas
qed

d. Shakti
arf<h

45. The government has set up NITI Aayog to replace the Planning Commission. What is the
expanded form of the term NITI?

LA ST SR T ZeTd U AT SN i TATAAT 0T, F(1d AT [Aeqd &9 F47 872
a. New Initiative for Transforming India
b. National Initiative for Transforming India
Torer TiAforfea we graw T 2T
c. National Institution for Transforming India
AT SRS B STERIRAT ST
d. National Institution for Taking Initiative
T SRS WX ST safefes

46. Which one of the following Naval Ships was NOT a part of Operation Raahat undertaken by
Indian Army to evacuate Indian and other foreign nationals from Yemen?

TAH A AT ATEAT SIS AT BT o FIT FATT THA F ATTATT 3 37T 907 o6 AT il
TeRTer 3 o =T 1 ST TTgd T f2EaT At ar?

a. INS Sumitra

AETATH FOAT

b. [INS Tarkash

20



ARTATH qLhT

c. INS Vikramaditya
IrzuATY fawaTiRe
d. INS Karavati
ALTATH FITAA
47. Which city is the capital of Telangana?
T AT AIET AT %0l TSTETAT 872
a. Hyderabad

R

b. Seccunderabad
EELRCIE]

c. Vijaywada
[ESREIE]

d. Warangal
AT

48. Which one of the following is NOT a member of BRICS?

TAH | I [ T qGeT A1 872
a. India
HILT
b. Britain
faes
c. Brazil
EISIE]
d. China

21



=
49. Which of the following states has highest Infant Mortality Rate in India?
AT & =98 o o T § Fatters forg gog 2w 82
a. Bihar
fogr
b. Madhya Pradesh
HqET ger
c. Odisha
ArSrer
d. Jharkhand
ANET

50. The ReEBOV Antigen Rapid Test kit has been recently approved by WHO for quick testing
of which of the following disease?

Frarr A Hire e fre B 2T & § T ¥ i fer £ 2 & e R

STeal ST Fedl 8?2
a. Swine Flu
AT %]
b. HIV/AIDS
TSN/ TZH
c. Ebola
ECIEI
d. Malaria
HAAT

51. Pampore area in Jammu & Kashmir is best known for the production of :

STH 3T FEHIT HT G &1 STATEA & o ST ST 2.
22



a. Almonds
ClEEE
b. Apricots

ATl

c. Saffron
FET
d. Apple
GE]
52. Which of the following is true about the Radcliffe Line?
e oo YT 3 ATy # T A 27
a. Itisaboundary demarcation line between India and Pakistan formed after Kargil War

Tg LA 3T ITTHREAT & A1 FAA 5 J1% ST (ST qTs @ g

b. Itisaboundary demarcation line between India and Afghanistan formed after partition in
1947

TZ 1947 % TAATSI & 972 AT ST AHHEATT o i HIHT [T <@r g

c. Itis aboundary demarcation line between India and Pakistan formed after partition
in 1947

TZ 1947 F 91T o 9T WIEd A ITTRET o= ST AT @ 2.

d. Itis aboundary demarcation line between India and Bangladesh

Tg WA 3T TRATIET F A= AT AT @ 8.
53. Angkor Wat, one of the most famous sacred temples, is in which country?
dFRATe, fad &1 UF TiHg afas gfew, T g+ 82
a. Cambodia
EEERI
b. Nepal

23



GRIE]
c. Philippines
fRferta=r
d. Indonesia
ZETET
54. Which of the following won the National Award for the year 2015?
4 2015 T TEHET TERR 30 & g 7 Sfar 272
a. Priyanka Chopra for Tamil film ‘Kochadaiiyaan’
afer fhew Far=amrs forr S JmaeT
b. Kangna Ranaut for the Hindi film ‘Queen’
Bar fihew Fir & oy dwmer qorag
c. Kangna Ranaut for the Hindi film ‘Krrish 3’
fear fohew ‘e 3 % fordr areT Tommaa
d. Priyanka Chopra for the Hindi film ‘Mary Kom’
Bt oo A & forg foeer =t

55. The ‘Narmada Bachao Andholan’ initiated by Medha Patkar was started as a protest
movement against which of the following dams?

HEIT qTEHT GIXT S[ESTT (o T THET TATAT AGAT il J[EAT =76 & fore afer  fore & o
&5 o7

a. Bhakra Nangal Dam

HATEET AR a7

b. Sardar Sarovar Dam

&R UL I

c. Hirakud Dam

CIREEEIL]
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d. Tehri Dam

fegdt aig
56. Who amongst the following personalities has NOT been awarded Bharat Ratna?
THH T T AT T F TEATHT T2l g7 &2

a. A.P.J. Abdul Kalam

AT, 355 FATH

b. B.R. Ambedkar

1.3, FFEHT

c. Sachin Tendulkar

= dgas?

d. Amitabh Bachchan

ATy g
57. The sociological term for ‘marrying within a group’ is referred to as
TF THE % a< A’ F ol auTSems T ug #7989 §

a. Exogamy

ERUIEIREEIF

b. Hypergamy

g e

c. Polygamy

EEIEEIES

d. Endogamy

GHIETREEIE

58. Who is the speaker of the 16™ Lok Sabha?

TIAZAT ATRTAT FETT Rl 872

25



a. Meira Kumar

HITT A

b. Sumitra Mahajan

EEIREEE]

c. Somnath Chatterjee

TIHATY TSt

d. Manohar Joshi

HATEL STreft

59. Who is th author of Alice’s Adventures in Wonderland’?

TferersT U= 39 983 e’ & oda Hid 6?2
a. Father Discoste
HIEY REhEe
b. Thomas Hardy
AT BT
c. Charles Dickens
IS REE T
d. Lewis Caroll

REGETE]

60. The brand associated with the punch line “sense and sensibility” is

“ e U AR d=aT o Jie 7 9efad 872
a. Dell
=T
b. Phillips

foRfere
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c. Wipro
[EEL
d. Crompton and Greaves

61. ‘Charlie Hebdo’ — the satirical weekly — which was recently attacked, is located in which of
the following cities?

‘9TTeAT goar- AT Tl 5 9% g1 &F § gAaT gol, =4 | e orge 7 feura g2
a. Dublin
zafore
b. Toronto
T
c. Paris
EliC)
d. New York
W

62. Who among the following is the first Indian cricketer ever to make three Test centuries in
his first three innings as captain?

=AY | Tl TgAT AT Tohohe TSt € e Fa19 & 91 98 999 Ugl d 41 of 99 | aaF
FATT 872

a. Mahendra Singh Dhoni
b. Virat Kohli

e Figett

c. Sourav Ganguly

TS TRAT

27



d. Virender Sehwag

iz frgam
63. Which of the following is NOT an output device?
s @ T IBTYE JRFA & 2

a. Speaker

ThHT

b. Monitor

HATsireT

c. Keyboard

EICI

d. Printer

fBex

64. What is open source software?

H<h T AT F97 21aT 872

a. A Software that is open only to the registered members.

U ATFAAL ST el Goiiohd TaedT & (o7 Gl 2.
b. A free software.
c. A software that can be freely used, changed and shared.
TF QTS S T €9 F ST, 9897 i< qram f&3ham ST 9=t &,
d. None of the above
=i & s
65. Which leopard is not found in India?

TH T AT AT AAT A | 71 ITAT ST 82
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a. Amur Leopard
ST g
b. Snow Leopard
e dgem
¢. Clouded Leopard
oy
d. Indian Leopard
RIESIRKCES)
66. Which tree is known as ‘Flame of the Forest’?
TR 2 T STt T SR & ST ST 82
a. Simal (silk cotton tree)
R
b. Palash (dhak)
ENIN
¢. Gulmohar (Delonix regia)

TTHIEY

d. Ashoka (Saraca indica)

EEIED

67. Which is the only state in India to have a state butterfly?

o

TN AT THATT AT 157 g e aerhi faaeft g2

a. Maharashtra

HEg

b. Kerala

FTAT
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¢. West Bengal
afer S
d. Sikkim
ferfa
68. Who among the following is not a naturalist?
R & A TFAT 22
a. Salim Ali
AT 3TAT
b. Jim Corbett
S Frde
c. Pradip Krishen
T Fo0
d. Mrinal Sen
T AT

69. What are ‘Ramsar sites’?

THaT eI ol FEd 87
a. The sites of Ram temples in the world

foeg & oy 9fes & woer

b. Wild medicinal plants of international importance

HAIITST HETA o SITAT (o (ohicard oTer

c. Wetlands of international importance

AATTEI Haa il 3

d. Forests of international importance
FATEIT Tg<d & a
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70. Which of the following is now a national Park in India?
THH F AT GG § 31 TP IATH 2872

a. Keoladeo Ghana Bird sanctuary

HAATIE qHT G&ft STV

b. Okhla Bird sanctuary

AFAT TET AR

c. Sessa Orchid Sanctuary

T ATfhE AHIT0T

d. Thattekkad Bird Sanctuary

qTIHTE Tt AT
71.India’s contribution to total global carbon dioxide emissions is about

It e Icasid H AT HT TN (hadT 52

a. ~6%
b. ~10%
c. ~15%
d. ~3%

72. The theme of this year’s World Environment Day was?

TH 99 % o agiaeor fdad #7 off\ o977
a. Seven Billion Dreams. One Planet. Consume with Care.
T [T 999, T Tg. GTaeTl & STHT Fie.
b. Small Islands and Climate Change
Bl BT A /HA TRAA,
c. Think. Eat. Save.
GIEIRCIE IR

d. Green Economy

31



g sTerTa,

73. The value of ‘n’ is the ratioof .
“m° TR AT ST ©.
a. The diameter and the circumference of a circle.
A F =T AT gifer Fr
b. The circumference and the diameter of a circle.

CREIRINEE R |
c. The area and the radius of the circle.
A F AR A =T F°T
d. The radius and the areas of the circle.

A o AT 3T &A=HA FT

74. One day Akash left home and walked 10 km towards south, turned right and walked 5 km,
turned right and walked 10 km and turned left and walked 10 km. How many km will he
have to walk to reach his home straight?

U & arewter 9% 7 [Aawar sfiT qferor it < 10 et =5, IR q=T 3w 5 foreT ==, arfeer
HET S 10 TRt =7 e & 727 3 10 st =1ar. o1+ = e ag= & o 39 fhaet @
FAAT TRIT?

a. 20

b. 15

c. 30

d. 10

75. A fruit seller was asked how many fruits he had in his bag. He replied that there were all
apples but six, all mangoes but six, and all oranges but six. How many fruits he had in the
bag in all?

e FAThdT F T AT 3 38 20er § fohae w1 8. 3+ s ot ©&F afY &9 € afem & =t
g, TT o § oo = =0, 3w oY "5a¥ g AT @ A1 8. SHh Al °H T fohd o el 52
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c. 27
d. 36

76. Volume of a cube is determined by

o T A e Rttt B smar 82

a. (43 xmxr’

b. (1/3)xmxr®

C. an3

d. None of the above (37H & FIs &T)

77. A woman introduced a man as the son of the brother of her mother. How is the man related to
the woman?

T S o U ATGHT I SHE AT % HIS % o 6 & § 9= [T, 98 A 39 X § 9
GEIEEI

a. Nephew

AT

b. Cousin

WAL WIS

c. Son

d. Uncle
=T

78. Complete the following series.

frerferfad i@ FT I3 F<.
4,7, 12, 19, 28, 7.

a. 30
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79. Which of the following is NOT a fundamental right according to Indian Constitution?
AT FIALT o SATHTE TAH T FI AT G ATIHRT 21 272

a. Right against exploitation.

orror % fawg sfas

b. Right to freedom of religion.

ST TSIl T SATAFHT

c. Right to freedom.

TAAAT T ATAHRT

d. Right to employment.

TSR &7 AFAFR

80. Which of the following is India’s first supercomputer?

TAH F DI T AT FT TgaAT AL FYT 872

a. EKA

Tehl

b. PARAM 8000

9qIA 8000

c. Aditya

3G

d. SAGA -220

e. 9rEm—-220
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81. Which of the following is the internal memory of a computer?
T & o Y i S 27

a. Hard Disk

HEAS=D

b. INTEL Core

23 T

c. RAM

w

d. ROM

TH
82. Which operation is not performed by a computer?
T AT HF FIT 6 G Aol 6AT ST 872

a. Input

ARG

b. Processing
TTETERT
c. Control

B

P2y

d. Understanding
S
83. GDP of a country refers to its

ToReT Tor T SHETT T 3747 swery 87

a. Gross Domestic Product.

denel o] ScHla
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b. Gross Domestic Price.

SERAS R Gl
c. Gross Demand for Petroleum.
arterad T Teer 7T
d. General Democratic Party.
T = qTeT
84. Indian Standard Time (IST) is .
AT AIAF T9T § F7 52
a. 5 hours and 30 minutes ahead of GMT.
SeRet & 5 ser 30 fame am.
b. 5 hours and 30 minutes behind GMT.
Sfroadt & 5 wer 30 fame fig
c. 2 hours 30 minutes ahead of GMT.
Sroed & 2 sz 30 e .
d. 2 hours 30 minutes behind GMT.

SHUHET 7 2 =er 30 e am.

85. Currently total number of states in India is?
AW § AT | e T 872

a. 30

b. 28

c. 29

d. 27

86. Which of the following mountains are the oldest?
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T A AT URTE 9 [T 82

a. Himalayas

fwrerT

b. Aravalli

FAAT

c. Shivalik

IBENEET

d. Nilgiri

Hrafafe

87. Consider the following statements about a matrilineal society. (1) Descent is traced through
mothers rather than fathers. (2) Property is often passed from mothers to daughters.

ATqEATRS TRER & g § Faferfed Fuet o = #2.. (1) S &7 Hgior foaqr & sy
HTAT | gIaT g. (2) {9 T geqiaor ATaT & JiedqT T gial 5.

a. Only statement 1 is correct.
Fad FIT 1 9ET &.
b. Only statement 2 is correct.
FAA FAT 2 TEl &
c. Both 1and 2 are correct.
18k 2 =1 Tt &,
d. Neither 1 nor 2 are correct.
AT ar 1 Agr g Aarar 2.

88. Which of the following is NOT an Indian satellite?

TAH | A AT T SUUE A81 872
a. ARYABHATA
qaE
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b. OCEANSAT
rfarerae

c. MONSOONSAT

AMYAae

d. JUGNU

NN

89. Jamshedpur city is associated with which of the following industries?
STHLEIY 9T8< T §ae 0 | e I=RT 7 g2

a. Steel and fertilizers

TETT Y 3a%H

b. Iron and steel

ST A FeuT

c. Iron and coal

AT 3 FrFe

d. Copper and fertilizers

T 3 394

90. The age of a candidate for the office of the President of India should not be less than

AT TPATd 92 & FrATA & o0 IFfEare i =AW g 77 272
a. 25 years of age.
25 .
b. 30 years of age.
30 a9

c. 35years of age.

35 9%
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d. 40 years of age.
40 9.
91. The maximum no. of members in Lok Sabha and Rajya Sabha at present are
FAATH | ATHEAT ST TSTTAT T ATHRTH TEET HEAT FIT 52
a. 545 and 250 respectively.
FHI: 545 T 250
b. 245 and 545 respectively.
FHI: 245 =T 545
c. 542 and 232 respectively.\
FHA: 542 =T 232
d. 232 and 542 respectively.
FHL: 232 T 542
92. The importance of Bombay High liesinits
JTHT BTS T Hged [ohel (o1 g2
a. Monuments
TETEt
b. Film industry
e 3=
c. Oil
T,
d. Enchanting beaches
HAHIES 51T

93. India is a ‘mixed economy’. This means

aTed U ‘i sreferaear g #ifF_
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a. Its economic system is combined of private and state enterprises.
=9 srferaet ® fAsft ok Tow Sem @ 2 R

b. Its economic system is combined of agriculture and industries.

T oo § A e 3T He A .

c. lts economy is mixed with the social wellbeing of its people.

TAET AT T8F AT o ATHTISTR FedTor 3 ford 2T 2.

d. None of the above.

=it 2 S A

English
94. The idiom ‘smell a rat’ refers
a. Tosomething that has rotted.
b. To behave like a cat.
c. To suspect or have a feeling that something is wrong in a situation.
d. To be certain that something is wrong .
95. The meaning of the word ‘plummet’ is best described by .
a. Rise sharply
b. Drop sharply
c. Rise slowly
d. Drop slowly
96. Which of the following words is correctly spelt?
a. Beligrent
b. Beligerent
c. Belligrent

d. Belligerent
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97. We were by the unexpected beauty of the landscape. Choose the correct phrase from
the following to complete the sentence.

a. Bowled over
b. Throw down
c. Eaten away
d. Tipped off
98. Choose the grammatically correct sentence from the following.
a. He s laid up with typhoid.
b. He as well as you are guilty.
¢. He insisted me to go on there.
d. | offered my thank to him.
99. Which of the following words is NOT a preposition?
a. at
b. before
c. with
d. ago

100. Shakespeare wrote many poems of fourteen lines each. What is this form of poetry
called?.

a. Malady

b. Sonnet

c. ldyll

d. Charade

101. The antonym of the word ‘legible’ is

a. Eligible

b. Illegitimate

c. lllegible

d. Unlegible

102. The price situation continues to be worrisome strong growth in production.
(Fill in the blanks with the most appropriate word from the following).
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o o

a. despite
b. instead of
C. inspite
d. although

Or/ y¥dar

HINDI

94, 9 +F0e & AT gl 952 &
a. o=

b. fAewue

c. Mz

d. M=

95. =gl 7 7.
F. AT g ATAT 1. FH9
g, Tl g ardr 2. AFLTATAT
T, T ge w AR gar 3.
ERESICIE R C | 4. 9qATE

F g T A

1 2 3 4
2 1 4 3
2 1 3 4
1 3 4 2

96. FHT IETHT 1A & Tal o1 747 572
a. ST A FHT FHAT

b. &Hq L&A

C. THEUE AT

d. SUEH IS

97. =TIy oTsai o T9HT § | TAH F FlF AT qel §
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SHLESICEY
ITETE- AT
- 3Ed
TE- AfwE

© T ®

Q

98. I AT 4[F ATHT 52
a. 9 ford ggar g
b. ST AgT AT HEHTT ga.

C. ZYHT HA | 31 @ET g

d. og fara 1 F=7 IoF 272

99. TAH ¥ fohH ITITH & o@s JH=E A5l 572

Ef
3

100. T HTET TET ST HSTAL FT Aal 9T 872
SHITST BT

g e g

GreT faTerar

d. 3 Fer

c o

o

101. IR & 97 awde §:
fa+ IR
AT+AR

o o

#fa+ 3R
d. SIH & Fg AL

o

102. STH ¥ & T Ueh G w6 g
a. faay
b. &I &o¥ arelr
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c. #RY
d. Ty
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